
Year 2 Revision Level 9 Term 4  Test  10 marks (½ marks for a) and b) 

 

Answers  
 

1. a) 15 + 7 =  22          b) 12 – 5 = 4 
 

2. a) 10 is 7 less than 17   b) 6 less than 7 = 1 
 

3. a) Half of 16 = 8         b) Half of 20 =  10 
 

4. Count backwards by twos starting at 28. 
28, 26,24,22,20,18,16,14,12, 10 

5. a) Double 22 = 44         b) Double 9 = 18 
 

6. a) 4 x 4 = 16                       b) 3 x 5 =15 
 

7. Round these numbers to the nearest 10: 

a) 16    20                     b) 37    40 
 

8. Order these numbers from smallest to largest:  
a) 121  108  111 … 108, 111, 121 
b) 362  326  322 … 322, 326, 362 

 
9. a) 25 ÷ 5 =  5                  b) 18 ÷ 2 = 9 

 

10. a) 7 + 6 = 13         b) 40 - 20 = 20 Score    /10 


